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A consistent approach to maths skills

Introduction:

Maths is embedded in all subjects and underpins the whole curriculum.

In KS3 students are required to read/write dates in history and they are required to underline dates
and titles in all subjects — meaning they must be able to accurately use a ruler — a key mathematical
skill. KS3 students will also be required to convert accurately between units of measure in a
number of subjects including Maths, Design & Technology, Art and Science.

As students move into KS4 they will also need an understanding of various statistical
measures/charts to display information — in Geography they may need to draw interpret a number
of graphs. In Business students will use key formulae and need algebraic rearranging skills and in
Computer Science students will use various algorithms and explore a variety of number systems.

With maths clearly being an integral part of all subjects, a consistent approach is essential to
support students understanding and avoid confusion.

This booklet will outline some cross-curricular mathematical skills and a consistent approach to
them, including: the correct language to use, step-by-step processes and examples.
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Numeracy

1.1 Place Value

Place value is the value of each digit that appears in a number. Understanding place value helps you to
work out the value of a number.

Correct language:

It is important that the headings for place value are as identified/referred to as in the step-by-step
process below. The ‘ones’ column must no longer be referred to as the ‘units’ column.

Thousands and Thousandths are different to each other (as shown below) and this needs to be made
clear.

Step-by-step process:

i
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1.2Addition and Subtraction

Addition and subtraction are two of the four fundamental maths operations. Being able to add and
subtract numbers confidently plays a key role not only in maths but in a number of subject areas.

Correct language:
Addition, Subtraction, Column, Digits

Step-by-step process:

The column methods are to be used for both addition and subtraction for calculations of numbers
greater than 1x1 digit.

65 Subtract the right-hand

column of digits.

1
L34]
- K+
@ = B

Subtract the next column of
digits {moving left).

Subtract the final column of
digits {(moving left).

I
5
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W=

@ EnchantedLearning.com
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1.3Multiplying 2x2 digit or 2x3 digit numbers

Multiplication is one of the four elementary mathematical operations of arithmetic, with the other
ones being addition, subtraction, and division.

Correct language:

Multiplication, digits, long multiplication.

When using the method outlined in the step-by-step process below, when a zero is put down first, refer
to this zero as a ‘place holder’.

Step-by-step process:
All students taught to multiply 2x3 digit or 2x3 digit numbers (and beyond) using the standard
algorithm (long multiplication).

X 3 9 9x1=9
9x9=81
(put the 1 down; carry

3 5 1 9 | tes

o . X 9x3=27
U La_] D o 27 + (carried) 8 = 36
g 24 7 3
O O
i1 5 2 &% 9
3x1=3

3x9=27 (put the 7 down
and carry the 2)
3x3=9 (plus the 2
which makes 11)

Last of all, we add
the results of our

calculations to get the
answer.

3519+ 11730 = 15249

Example:
1 2) 3 4
321 321 321 321
23 23 23 23
5 6 7 8
321 321 3%1 21
el
x 23 23 23 % 3
(o] (o] (o] (o]
9
321
23
+ 0




Scaffold (alternate approach):

Grid Method:
123 x5

x| 100 20| 3
5 | 500 | 10015

500
+ 100
+ 15

615
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1.4Dividing numbers with 1 or 2 digit divisors

Division in maths is the process of breaking a number up into equal parts, and finding out how many
equal parts can be made. For example, dividing 15 by 3 means splitting 15 into 3 equal groups of 5.

Correct language:

Division, dividend/divisor, ‘bus stop’

Step-by-step process:
All students are taught to divide numbers with 1 or 2 digit divisors by using short division — often
referred to as ‘Bus Stop’.

To solve this division problem, follow the steps outlined below.

e The number by which
The mumber being divided _, 8 1 9 2 - 4 the dividend 1.2 ue
i colled the dividend. . — is co;l:gcf':: ;{g:;‘nc'l_ed
The answer o ¢ division problem is calied the quotient. :

Rewrite the division problem so that the dividend
(8192) is written in a division bracket and the divisor
(4) Is written to the left of the bracket,

short division Is performed from left to right, so divide
the first digit in the dividend (3) by the divisor (4).

4 goesinto 8 twice: 8 = 4 =2

Write 2 directly above the first digit in the dividend.

Divide the next digit in the dividend by the divisor,
In this instance, 4 does not go into 1, Therefore, 0 s
written above the division bracket, and the 1is
carried over to the next digit (9) to create 19,

Divide 12 by the divisor (4),
4 goes into 19 four times (4 x 4 = 16) with 3 left over so:
19 + 4 = 4 remainder 3

Write 4 above the  in the division bracket, and carry
the remainder (3) over to the next digit (2) to create 32

Divide 32 by the divisor (4).

4 goes into 32 eight times so:

32+4=8

Write 8 above the 2 in the dividend. The division
Slsthy 18 ROW phet

8192 = 4 = 2048

Example:
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186+6= (O 3 1

6|1 '8 6
u 1x6=6

no groups of 6
can be made 3x6=18

1.51 FDP — Converting between them

FDP stands for fractions, decimals and percentages. Students will need to convert between fractions,
decimals and percentages at various points across KS3 and KS4 in a number of subjects.

Correct language:
Fractions, decimals, percentages, conversions, equivalent.
Refer to the ‘top’ and ‘bottom’ of a fraction as the numerator and denominator.

Step-by-step process:

- (u“ -' —— b1w1MMMWWWH -
H Write percentage as numerator then denominator as 100. Now cancel down )—
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Example:

Fraction, Decimal and Percentage Conversion Triangle

Convert to [ . Fraction
out of 10, % X 100

and top<+hottom

simplify (and press
change if

using
calculator)

° siinfp?Li?;
OR OR N\ \

Write as 0 R

fraction out

. Convert to
/ OR eauivalent
Convert to . fraction
eauivalent \ out of 100
Type into fraction %
caleulator out of 10
and press or 100 etc + 100
=S and divide
7
|

B Safellator ot ceded)”™ " Copyright of warwicktutor.com

1.52 FDP - Finding a fraction of a number

Finding a fraction of a number is something that will arise in a number of subjects across the

. e 2 n
curriculum. It refers to problems such as “find 3 of 12”.

Correct language:
Refer to the ‘top’ and ‘bottom’ of a fraction as the numerator and denominator.

Step-by-step process:

Students will find the fraction of a number the same way across all subjects — for improper and proper
fractions. Students will divide by the denominator and then multiply by the numerator. Some students
may need the use of a bar model to support with this.

Step 1: Divide the number by the denominator
Step 2: Multiply the number by the numerator

10
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Examples:
What are T of 20?

20
2. Muttiply by 5 .
Gy of 10 = 25 +4
\}1 Divide by the ‘ 5 | 5 | 5 ‘ 5
. 3 x3
10225 - 0of 20 =15
5x5 =25 4

1.53 FDP — Finding a number out of another as a percentage
For example, “2 out of 7 people living in a city are living in poverty, what is this as a percentage?”.

Correct language:
Refer to the ‘top’ and ‘bottom’ of a fraction as the numerator and denominator.

Step-by-step process:
Students will use the formula outlined below to find one number out of another as a percentage, this
could be to convert a raw test score into a percentage.

Numerator
———x 100
Denominator

Example:
Jay scored 68 out of 80 on his maths test, write this as a percentage.

Fumerator . 160 = 25 x 100 = 85%
Denominator ~ 80 - 0

1.54 FDP — Finding a percentage of a number

A percentage refers to something expressed as an amount out of 100. Finding a percentage of a
particular amount can be found a number of ways. A consistent approach to this is outlined in the step-
by-step process below.

Correct language:
Use the word multiplier (decimal multiplier) to describe the decimal equivalent of a percentage that the
amount is multiplied by.

11
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Step-by-step process:
Students will use the multiplier method to find a percentage of an amount.

Step 1: Convert the percentage to a decimal by dividing it by 100 (this is called the multiplier)
Step 2: Multiply the number by the multiplier

Example:

Calculate 87% of 300

|l
087 x 300
= 26

Percentage Multiplier Method

Scaffold (alternate approach):

Some students (or in some scenarios) may need to find the percentage of an amount by finding 10% (by
dividing the number by 10) and/or finding 1% (by dividing the number by 100) and building this up to
find the required percentage as below:

Find 35% of 60:

10% =60 +~10=6
5%=6+2=3

S0 35% =3x10% + 5%

-3x6+3 \
=18+3 - \ 1
=21 /o
~\
/.
/

12
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FDP — Increasing/Decreasing by a percentage

Finding a percentage increase/decrease for a particular amount can be found a number of ways. A
consistent approach to this is outlined in the step-by-step process below.

Correct language:
Use the word multiplier (decimal multiplier) to describe the decimal equivalent of a percentage that the
amount is multiplied by.

Step-by-step process:
Students will calculate a percentage increase/decrease by using decimal multipliers.

% increase:

Step 1: 100% + percentage

Step 2: Divide this new percentage by 100 to get the decimal multiplier
Step 3: Multiply your number by the decimal multiplier

% decrease:

Step 1: 100% - percentage

Step 2: Divide this new percentage by 100 to get the decimal multiplier
Step 3: Multiply your number by the decimal multiplier

Example:
| Using Multipliers for Percentage Changes | ] ‘

If an amount is increased by x% the new amount is
(100 + x)% of the original amount

Increase 9000 by 15%

100% + 15% = 115% [9000 x 1.15 = 10350 \ /

115% = 1.15

If an amount is decreased by x% the new amount
is (100 — x)% of the original amount

Decrease 4500 by 12%
100% — 12% = 88% | 4500 x 0.88 = 7920

88% = 0.88

T Wadas
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1.55 FDP — Finding a percentage change

This refers to calculating the percentage in which a value has been increased or decreased by. There
are a number of ways in which this may be approached but a consistent method is outlined below.

Correct language:
Percentage change, increase/decrease.

Step-by-step process:
Students will calculate a percentage change (increase or decrease) by using the method below.

change % 100

Percentage Change = —————
original amount

Example:

A piece of jewellery has increased in value from £1560 to £2760. Calculate the percentage
change (increase).
Change = £2760 - £1560 = £1200

Percentage change =

£1,200

_£1,200 0
“F1560 X 100%

Percentagechange =76.9%

_
o0 )L
I i
o [
/ 14
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1.56 FDP - Compound interest

Compound interest occurs when previously earned interest is added to the principal amount invested
or borrowed. It is commonly described as "interest earned on interest”.

Correct language:
Use the word multiplier (decimal multiplier) to describe the decimal equivalent of a percentage that the

amount is multiplied by.

Step-by-step process:

Students will use percentage multipliers in compound interest questions as shown below.

New value = Initial value X multiplier™

Where n is the number of times the interest is applied eg. number of years
The multiplier is calculated as follows:

Step 1: 100% + interest rate
Step 2: Divide this new percentage by 100 to get the decimal multiplier

Example:
Emily invests £8000 in the bank fo@years‘
It earns compound interest of 3% per year. « 103

Calculate the total amount of money that Emily has in the bank after 4 years.

b

l}x(}‘u] X A,U/f/‘/;/v

4
quoc) X 1-03
8000 x 1.03%

#oY.07 9004.07048

15
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Algebra

2.1 Using Compound measures

A Compound measurement is a measurement that uses more than one quantity. Examples include
density measurements, speed measurements and rates of pay. Density is calculated by mass + volume.
So density is therefore written as mass per volume.

Correct language:
Density, speed, pressure, mass, volume, distance, time, force, area, compound.

Step-by-step process:
Use the formula triangles to help remember the compound measures: Speed, Distance, Time; Density,
Mass, Volume and Force, Pressure, Area.

Compound measures
Speed
speed = distance =
time s |t
Density
M
density = S
volume ol v
Pressure
pressure = 012 )
area pla
Example:

Which triangle?

. Calculate the density of gold if 25
cm? has a mass of 43.5 g.

To find the density M _
» To find the mass {?CA”}S‘;VV‘;;‘“S + Volume
To find the volume D v : ‘1' }4 é/cmj
2. Agirt cycles for 3hrs at a speed of
40 km/h. What distance does she
To find the distance o travel?
To find th d g
QINCANEISECS Distance = Speed x Time
» To find the time S T =40 %3
=120 km

3. Abox is placed on the floor. It
exerts a force of 2800 N. The area
of that part of the box touching
the floor is 4 m?. What is the
pressure exerted by the box?

To find the pressure
To find the force
To find the area

Pressure = Force + Area
= 2800 + 4
= 700 N/m?

16
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2.2 Rearranging formulae

Typically we rearrange equations and formulas by using inverse operations to make one variable the
subject of the formula. The subject of the formula is the single variable that is equal to everything else.
i.e. the term by itself on one side of the equal sign.

Correct language:
Inverse operations, Balanced, Variable, Formulae, Equations.

Step-by-step process:

Inverse operations should be used when rearranging formulae to make another variable the subject.
If there is a question where the values of some variables have been given and a variable that is not the
subject is to be found, then substituting and using inverse operations to find the value of the variable
may be the most appropriate method.

The formula must stay ‘balanced’ so an operation acted on one side of the formula must also be acted
on the other side.
Inverse operations:

Operation Inverse

Example:

Rearrange the formula to make a the subject

This means b=5a+21
we want to -21 -21
rearrange b-21=5a
the formula 45 5
so it says
a= b-21=a
5

Our answer should say ...a=b - 21

OR E = %mvz,find vwhenE =250and m = 2

17
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Substitute in number first : 250 = %x 2 X v?

2.3 Gradients

250 = v?
V250 = v

158 (1dp)=v

On a graph, the gradient is a measure of the steepness of a line (or a point on a curve), and is calculated
by dividing the vertical change by the corresponding horizontal change. It represents the rate at which

the variable plotted on the vertical axis changes with the variable plotted on the horizontal axis.

Correct language:

Gradient, rate of change, variable.

Step-by-step process:

The gradient is calculated by working out the change in y values divided by the change in x values. This
can be written mathematically as:

Yo-Yi1 =AY

Example:
e (x27y2)
y B(2,6)
55 N o
A W54
/
< // >
A& X
(-2,-2) [
(.x1.’y,1)f f

The Gradient "m” is:

Y2-Vi
X3 - X4

=av
AX

6-2
2-2

8/4

2y

18
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Statistics

3.1 Categorical/Qualitative data

Categorical data are data that can be sorted into categories (e.g. different ‘eye colours’ or ‘food
groups’) but cannot be ordered (since they are ‘labels’ that have no particular order). Categorical data
are qualitative data.

Bar Charts & Line Graphs

A bar/line chart is a display for presenting data, in which bars/lines of equal width represent the set of
values. Each value is proportional to the length of the bar. The bars/lines may be vertical or horizontal.
Both axes must be labelled and there must be an appropriate scale used with equal intervals. A key
must be used on the comparative bar charts — compound/composite/stacked and
dual/grouped/clustered. Bar charts and line charts can be used for categorical or discrete data.

Correct language:

Compound/composite/stacked bar chart = bars are stacked on top of each other representing separate
factors within each category

Dual/Grouped/Clustered bar chart = the bars are drawn in pars/groups and the two bars in each group
represent separate factors within each category.

Step-by-step process:

Adults (18+) and children were asked about their favourite sport.

| Football | Running | Swimming | Complete the dual bar chart - Eq ual size bars with eq ual
Adults | 4 | 5 | 3 | with this information. b
Children 3 7 6 gaps between
- Both axes labelled

- Appropriate scale used with

5 Favourite sports of adults & children

6 = equal gaps
S
c
[
=3
g4
e

2

Football Running Swimming
Sport
Example:

Dual bar chart:

19
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Annual energy consumption in the UK
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3.2Numerical data
Numerical data refers to the data that is in the form of numbers, and is often referred to as
guantitative data. Continuous and Discrete data are both types of numerical data.

Groups, Frequency Diagrams and Frequency Polygons

Correct language:
Numerical, quantitative, continuous, discrete, frequency, groups/intervals/classes

Step-by-step process:
Below are the different types of graphs that students may come across:

Example:
Grouped frequency table:
Weight, w (kg) Frequency, f
2 <w<3 22
3 <w <35 14
35 <w <4 39
4<w <45 29
45 <w <6 13
@ D
Frequency Polygons
Frequency polygons allow us to display grouped data.
Example 1: A number of boxes of sweets were opened and the contents were counted.
Draw a frequency polygon to lllustrate this data.
Number of Sweets Mid Value Freq y 5 zeA ;
12-16 14 8 g 11|
& 16~
17 - 21 19 1" g
22-26 24 19 4 i- o
27-31 29 16 ke
32-36 34 5 8
t 6.. 4 I | 1
Draw the axes using suitable scales. f T
Plot each frequency against the P
mid-value of each range. i
Join the points to produce a 0 3 ; 171!2 T 1!6 20 2:4 2'8 32 36 407
frequency polygon. ‘ Number of Sweets

21
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Bar Chart:

Frequency
4

6-

Vo

L E R
Number of siblings

Histogram:
9.0

Frequency Density

10

20
Thousands of Miles
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3.3Scatter Diagrams and Lines of best fit

Scatter graphs/diagrams are used to present the relationship between two variables for a set of data
(bivariate data), eg. Height and arm span. The data can be described as having a positive, negative or
no correlation.

A line of best fit can be used to best represent the data and then used. In maths the line of best fit
tends to be linear (a straight line); in Science the line of best fit may also be curved. The line/curve
must have a similar number of data points either side of it.

Correct language:
Bivariate, variables, relationship, correlation, line of best fit.

Step-by-step process:

To draw a scatter graph use the steps outlined below:

Step 1: Plot each pair of data against each other, mark a cross where the piece of data lies

Step 2: Draw a line of best that best represents the data — it must have a similar number of data points
either side of it. A ruler must be used if a straight line is drawn.

Step 3: To estimate another value from the scatter graph the line of best fit must be used. Use a dotted
line to estimate from the line of best fit.

Example:
Scatter Graphs Ms Wilson records the temperature each day and the
amount of ice cream she sells in her shop.
She plots each day on a graph. Outlier Line of Best Fit
= A
Temperature (x) Ice Creams Sold (y) 25
20 15 .»
15 10 22 »
A /ﬂ
23 16 w
g 15
C t a patternin the data? < N A
an we expect a patternin e aata S A 7 X
Ms Wilson plots more points. 3 10
> dis
A scatter graph compares two variables to 5 A
analyse whether there is 1
a relationship between them. 0

0 5 10 15 20 25
] Temperature °C

As one variable increases so does the other:

We can see more ice creams are sold on hotter days.
there is a positive correlation between the variables.

23
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3.4 Pie Charts

A pie chart is a type of graph in which a circle is divided into sectors that each represent a proportion of
the whole.

Correct language:
Sectors, proportion, angles, frequency.

Step-by-step process:

Drawing a pie chart:
Step 1: Find the total frequency by finding the sum of the frequencies.
Step 2: Number of degrees per person/part = 360 =+ total frequency

Step 3: Multiply each frequency by the degrees per person/part to find the number of degrees for that
section

Step 4: Draw the pie chart using a protractor and a ruler

Interpreting a pie chart:
To find frequencies from a pie chart use the method outlined below.

degrees in section

Frequency of section = 200

X total frequency

Example:

The table shows 18 peoples favourite colour.
Display the information as a pie chart.

Colour Frequency an(e_
60

Red 3 x20
Blue 4 xlo0 30
Green 6 x20 120
Yellow 5 XZQ (00
18 360

360 < /8= 20°

A protractor is then used to draw each angle on to the pie chart.

24
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3.5 Box Plots & Interquartile Range

A box plot is a simple way of representing statistical data on a plot in which a rectangle is drawn to
represent the second and third quartiles, usually with a vertical line inside to indicate the median
value. The lower and upper quartiles are shown as horizontal lines either side of the rectangle.

The interquartile range (IQR) measures the spread of the middle half of your data. It is the range for
the middle 50% of your sample. Use the IQR to assess the variability where most of your values lie.
Larger values indicate that the central portion of your data spread out further. Conversely, smaller
values show that the middle values cluster more tightly.

Correct language:

Quartiles, lower quartile, upper quartile, median, sample, spread, average.

Step-by-step process:

lower quartile

Box and Whisker Plot

A box and whisker plot (also called a box plot) shows the five-
number summary of a set of data: minimum, lower quartile,
median, upper quartile, and maximum.

upper quartile

Q, median Q,
min max
Ii, |
whisker whisker I
interquartile range
Interquartile Range Formula T pATH ExpERT
Lower half Upper half
X, X, Xz X4 Xs X X,
Lower quarter Upper quarter
Qs Qs

Interquartile Range: Qs - Q-

Example:
Draw a box plot using the following information.
- ™
Lowest Value 10
Lower Quartile 15
Median 21
Upper Quartile 28
Highest Value 35

25
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— | A

0 5 10 15 20 25 30 3s 40

Lower half Upper half

Median
53 + 55
=54
2
Q, =52 Q, =58

Interquartile Range =Q,-Q, =58-52=6
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3.6 Primary, Secondary, and Tertiary data
Raw data is data collected directly from experiments or surveys, before being processed. Primary data
is data collected directly by the user — the raw data once it has been processed. Secondary data is
obtained indirectly from sources such as books, articles or web pages. Tertiary data is based on a
collection of primary and secondary data eg. in a textbook.

Correct language:
Data, primary, raw, secondary, tertiary, advantages, disadvantages.

Step-by-step process:
Determine which type of data has been used or is best by the definitions above. Possibly may need to
weigh up the advantages and disadvantages of each of the main types of data outlined below:

Advantages of primary data

- Knowledge of how the data was collected
- Knowledge of how reliable the data is
- Flexibility

Disadvantages of primary data

- Time
- Cost
- Potential limit of sample size

Advantages of secondary data

- Ease of obtaining
- Inexpensive

Disadvantages of secondary data

- May be unreliable
- Unknown collection methods

Example:
Data
Primary Data Secondary Data
Examples: Examples:

l.Interviewing people within 1.Google Analytics report on
your organization your website's traffic

2.0Observing a moderated 2.Information you collect
discussion amongst people from census and electoral
you choose to collect data statistics

27
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3.7 Sampling

A sample is defined as a smaller set of data that a researcher chooses or selects from a larger
population by using a pre-defined selection method.

Correct language:
Sample, population, data, random, systematic, stratified.

Step-by-step process:

There are three main sampling types that are described below.

Random sampling is the sampling technique in which each sample has an equal probability of being
chosen.

Stratified sampling is a method of sampling that involves the division of a population into smaller
groups/categories. The proportion of things from each category is the same in the sample and the
population.

Systematic sampling can be used when the population is large. You choose a random starting point and
take a sample at regular intervals — e.g. every 10" member of the population.

Example:

Adam wants to choose 20 of the 89 members of his choir to fill in a questionnaire.

Explain how he could select a random sample.

Everyone should have the same chance of being chosen,

so he needs to start with a list of everyone in the population...

1. First, he should make a list of all the people in the choir and assign everyone a number.
2. Then he could use a calculator or computer to generate 20 random numbers.
3. Finally, he needs to match these numbers to the people on the list to create the sample.
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Geometry

4.1 Isometric Drawing

Isometric drawing is a form of 3D drawing, which is set out using 30-degree angles.

Correct language:
Isometric, 3-Dimensional, parallel.

Step-by-step process:

The following are scme notes on how to draw a cube in Isometric Projection.

STEP 1 STEP 2

AN

STEP 3 STEP 4

Isometric

Parallel

Example:

Perspective

Non-Parallel

29
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4.2 Mensuration (Perimeter, Area and Volume)

Perimeter is the distance around a two-dimensional shape, area can be defined as the space occupied
by a flat shape or the surface of an object, and volume is the amount of space that is contained within
an object or solid shape.

Correct language:
Perimeter, area, volume, length, width, base, height, depth, surface.

Step-by-step process:
Perimeter, area and volume are to be calculated by using the set formulae outlined below.
Perimeter = the sum of the lengths of all of the edges of a shape.

Area formulae: Volume formulae:
Square
Trapezoid
A=s" -
A
- s > h
Rectangle L4
i 55 b )
A=bh h
Y‘ Triangle
b
- >
Parallelogram

:;P!

Circle

| A

Ao

P*

V =arth ro
e V= /

Low-h

=
I
| ol
=
-

- V=I0-w-h

Example:

Perimeter:
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5cm

5+5+5=15cm
Perimeter = 15cm

Area:
[ teme Fermuls Exampl
Bzt = dem
. Aren Hieight =
Rectangh Eade » Height Arms '1-;[\:‘:
Arn [Bage = dcm
Treafie Barte =hkiight Haeight = Bom
F} Arda v 10
Bage v ds
P Arga = .
E ianadall ISR i
A =
{4+ B) = Haeight Atim ReTr
Tropezem y F] h-lﬂ'l LEEE: "]
A and B ore The Argg = $im'
parc el fded
;""_“'. Rov dmm
n nn:llui Args o B0 Imed
irgle
Circumference = Rz dmm
® Circumlerente |
D= dipmapter 12 G
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L
Volume =1L +*WsH
Volume = Length = Width= Height
H g o
W
Example:
13in

Volume=L+«W+H

4 in Volume=13cm=+2cm=4cm
Volume = 104 cm?

Volume:

2in






